YRk2 8412 H8H
BRNZATBUE N Jo 8 P SRR LR

WA IEE RS ZERIRREFEE (P~ r) O
BT 7 UTAR B R4 Bl (BERHA) 1o\ T
[“ERi28410 H47]

28410 A IZ AR E FHHEE N IGE LIz & x4 w9 2 A 4
BB R e 22 e R SR M 2 (CERk284: 3 H25 HAHIT 272 S5
5583%) 5 6 @ 9 K UMRILODBER AL O MG AR DWW Tik, TRED
EEBHTT,

728, AHESHMOMEIEIZ OV T, P29 2 H FRIICAER T HTET
7

PRI ALK FLAIE
— — 41, 3001

1 PRGNS, TPHHORIH LISN RGeS ARG, BB EESOBERELE T 2 & E LTOET,
FERENTOWTIL, TPHEAORIH DRSS E AT ROE T,
2 BN T, BCARREHIRR DS EORIES) 2 MARTE L CEFE L4814, 000/BEEH SR LI-4EE LT
F9, 772U, EERUTAE)L, 000M/ SRR OY A R A T O FE AL
3 MESTSEATHA YO M RE T AA%, RSG5 2 Enh 0 £7,

HHESE
TAPERRE RS AR B g
Y bR NEIR
Mal : 03—3583—8562




(8%51)

FR28FE 4TIILF UM ETHER
(ER28410A]
(B4 : [/3B)
X 2 AERE RHTE FLAE
e (A) 1,276, 834 755, 091 448, 583
£EIX B (B) 1, 051, 808 743, 738 505, 250
=5 (C) =(A)-(B) 225, 026 11, 353 A 56, 667
FEmiasHEMm (D) =[(C)[x0.8 — — 45, 300
Wi Bm (BEH)  (D)-4 000 — — 41, 300
AU AR (A) =0+@ 1,276, 834 755, 091 448, 583
FEDME D=axb 1, 267, 500 749, 360 443, 770
RA™ISMEE (F/ke) a 2,535 1,520 995
HEREZE (ke) b 500 493 446
BIEDMEE O 9,334 5, 731 4,813
#EIX L (B) =0+®+D+® 1, 051, 808 743, 738 505, 250
mirE 952, 361 686, 418 469, 096
LEEE 591, 461 337, 396 204,129
AR E 296, 294 306, 058 233, 096
D iN-CI s~ 295, 227 305, 233 231,598
e 10, 155 1,782 800
EDBACL 10, 117 361 564
ATE 9, 563 741 194
AR} 7, 960 4,223 996
EL&fn (EEHE) 209, 338 264,120 203, 187
FEh 24,318 14, 756 9, 366
Z D1t 23,776 19, 250 16, 491
WE - B REE 1,067 825 1,498
BRE 11, 422 8,075 7,690
KRB RV HE 9, 457 7, 552 b, 518
ZOMDEMEE 229 202 275
HEMBERUVEERE 7,438 3, 951 2,630
EfEBE e 3, 996 2,483 2,977
LY R ON/N == 4,985 2, 550 1,998
f=/k 11, 820 8, 646 5, 621
BEEE 5, 150 2,971 1,576
BHEE 8, 606 5,518 2,973
HEEHE 1,503 1,016 613
FBE @ 74,943 41,570 24, 380
e 69, 201 37, 207 21,142
ERHEF ©=0+® 1,027, 304 727, 988 493, 476
XIFIF ® 13,330 b, 583 2,702
X @ 460 146 176
EERE 10, 714 10, 021 8, 896

1 FES BRI 100MRE Y Y 5 T,
2 FHBFELY, HERKRE TEE,




&E2)

FFEW MRS DGR
[ k28410 H ]

i F N SR PR SR A
gy | ARSI (1/ke) (ke/5E)
o 28T 2,516 504
E% PSR GIE 2, 622 485
i = 2,535 500
N 28Tt 1,512 494
%% PSR G 1, 541 489

#t 1, 520 493
9 281145 943 452
2
ﬁ% EpSRiN GRS 1,010 445
f #t 995 446

W1 28 &, FREPETIG0MS LR E T8 CORS 226, HIgE EICHW =T
— X ZEI L CRE,
2 FERES I LI, ROBERICBITS2EBNT L X —%5TORSITH 5,
3 ERROFEND . BB E TRIE,

[P = A
dbE, AR (AAREAREZERS) | BRER, IBR, RBER, MaIR Frisi, ik
B EER, mRR A FIR, SR, SR

[ZEr]
A, HARR, AR BEER, WER, R, TR, MaIIR, R, H
W WEEC AR, B, ZmR, mR, mER, RIEE, AR, RO,

VRN TS

(FLAIFE]
g, HARR, AR R, WER, R, TR, MR, BB, WH
W mEEC BIIUR, n R, BRI, R, R, R, AR, B
SR IR



